
E
N

T
R

E
 O

 P
A

V
IM

E
N

T
O

 E
X

IS
T

E
N

T
E

E
 A

 R
U

A
 C

O
N

S
T

A
N

T
E

 A
R

A
Ú

JO
 

2
03,71m

 x 7,0
0m

 =
 1

.425,27m
²

+
 25

,50
m

 x 7,00m
 =

 178,50m
²

+
 3

,0
8m

² (b
oca de

 rua
) =

 1.607,55m
²

R
U

A
 LU

IS
 D

IA
S

 C
U

N
H

A

F
V
P

 - F
ich

a de
 V

erificação
 P

re
lim

in
ar

IT
E

M
 06

 - IN
D

IC
A

Ç
Ã

O
 D

A
 U

S
IN

A
 D

E
 A

S
F

A
L

T
O

 (C
R

O
Q

U
I IN

D
IC

A
N

D
O

 A
 U

S
IN

A
 C

O
M

 A
C

O
R

R
E

S
P

O
N

D
E

N
T

E
 D

IS
T

Â
N

C
IA

) E
 JA

Z
ID

A
 D

E
 M

IN
É

R
IO

S
.


